NEWAGE

KITCHEN
STORAGE ACCESSORIES

INSTALLATION GUIDE

~.
©
)
(@)
©
S
©
©
e
e}
(%]
(%]
[}
v
)
<<
()
(@)
o
o
+—
V2
5
o
>
L
w
=
=
[LiL]
=
=

Need help or spare parts? For fastest service,

contact NewAge Products at 1-877-306-8930;
or support@newageproducts.com.

Do not return to the retailer.

IM-HKC.02A-01 REV 1.1



Index

Product Inspection 3
Tools Needed 3
Maintenance and Care 3
Installing the Pull out 50L bin 4
Installing the Magic Corner 6
Installing the Iron Board 8
Installing the 18" 24", 36” Pants Display Rack 10
Installing the 18” and 24” Closet Rod on Cabinet Walls 12
Installing the 18” and 24”Closet Rod on Cabinet Shelf 14
Installing the 18’ 24", 36" Pull out Hamper Basket 16
Installing the Under Sink Organizer 19
Installing the 12” and 18” Double Pull-out Basket 22
Installing the 18" 24", 36" Pull-out Basket 24
5 YEAR LIMITED WARRANTY 26




Product Inspection

Check to see all parts are received as per the
order placed.

« Contact NewAge Products at 1-877-306-8930;
for any missing parts.
Inspect the products for any damages before

Q % starting the installation.
+  Go through the installation instructions carefully
= before starting the installation.

Tools Needed

" / % =0
#2 Philips Head Pencil Drill Bit #2 Philips Bit Cordless Drill Level

Screw Driver 3/16" (Optional)

Maintenance and Care

«  Wipe and clean the accessory with a soft cloth. Do not use the scourers, abrasives or chemical
cleaners.
+ Keep the slides out of water to protect the slides, thus make sure the smooth sliding.



Installing the Pull out 50L bin

0 Tools and parts needed.

Place the template on the bottom of the
o cabinet and align it to the front and side of
the cabinet.

#2 Philips Head
Screw Driver

I

#2 Philips Bit

M5 x 16mm
Melamine Screw

Pencil

Cordless Drill
(optional)

IO ]

Drill Bit
3/16"

2=0

Level

Mark the drill holes layed out on the

template.

Drill holes at the marked locations using
3/16”" mm drill bit while ensuring not to

drill through the bottom panel.




Installing the Pull out 50L bin

Insert the metal basket assembly and align the bracket holes to the drilled holes in the
cabinet. Using a screwdriver or cordless drill fasten the basket assembly using eight
M5x16mm screws included with the basket assembly. Make sure the cross posts are
installed on the basket assembly as shown in the image (A).

@

@ Slide the metal basket out and insert the bin. Adjust the cross posts to secure garbage bin.

4

‘!

—




Installing the Magic Corner

cabinet and align it to the front and side of

o Place the template on the bottom of the
the cabinet.

O Tools and parts needed.

3] /

Drill Bit
#2 Philips Head Pencil 316"
Screw Driver
#2 PhlllpS Bit Cordless Drill Level
(optional)
M5x8mm M5 x 16mm M4x8mm
Melamine Screw Melamine Screw Melamine Screw

Drill holes at the marked locations using
3/16" mm drill bit while ensuring not to
drill through the bottom panel.

Mark the drill holes layed out on the
template.




Installing the Magic Corner

Insert the sliding base and align the Slide the top frame and attach the handles
bracket holes to the drilled holes in the using two M4x8mm screws. Attach
ca!omet. Using a screwdriver or cor@less bottom brackets (B) to the top frame using
drill fasten the basket assembly using the eight M5x8 screws included with the

eight M5x16 screws included with the assembly and screw in the two handles on
Magic corner. top.

Insert the top frame assembly and align
the bracket holes with the holes on
the sliding base. Using a screwdriver Slide the top frame assembly out and

or cordless drill fasten the top frame install the metal baskets.
assembly using the eight M5x8 screws
included with the assembly.




Installing the Iron Board

Place the Iron board at desired position on

0 Tools and parts needed. the cabinet shelf. Ensure shelf is leveled

—a— / =

Drill Bit
#2 Philips Head Pencil 3/16"
Screw Driver
#2 Philips Bit Cordless Drill Level
(optional)

M5 x 16mm
Melamine Screw

Slide the iron board out from the frame.

(Note: Use two or more people to hold Drill holes at the marked locations using
the iron board in position.) 3/16 mm drill bit.

Mark the holes on the sliding frame base.




Installing the Iron Board

Place the iron board, slide out and

fasten the iron board to shelf using Slide the ironing board in to finish the
eight M5x16mm screws included in the installation.
assembly.




Installing the 18’, 24", 36" Pants Display Rack

0 Tools and parts needed.

Draw a horizontal line on the cabinet walls
at desired height (L).

—a— / =

Drill Bit
#2 Philips Head Pencil 3/16"
Screw Driver
#2 Philips Bit Cordless Drill Level

(optional)

M5 x 16mm
Melamine Screw

Mark a hole at 1.5 in from the front on the
horizontal line.

Insert the side mounted slide and align
the first hole on the slide with the marked
hole position. Use the slide as template,
mark the outer holes on slide mounting
bracket.

1.5in

L Desired height
of pants rack

Side view of inside panel

5in

1.

10




Installing the 18’, 24", 36" Pants Display Rack

Insert the slide and align the holes with
Drill holes at the marked locations using the drilled holes on the cabinet. Using a
3/16 mm drill bit. power drill or screw driver fasten the side
mounting slide to the cabinet using four
M5x16mm Screws.

A\

@ Insert the rack and clip it on the slides.

11



Installing the 18” and 24" Closet Rod on Cabinet Walls

Draw a horizontal line on both walls of
the cabinet at distance X from top and

0 Tools and parts needed. vertical line at distance Y from the back.
Put the bracket on wall and mark holes.

X
: j)] / I N
Drill Bit

#2 Philips Head Pendil 3/16"
Screw Driver

S D=0

#2 Philips Bit Cordless Drill Level

(optional)

@5x26mm

Melamine Screws
Side view of inside panel

Drill holes at the marked locations on both Fasten one mounting bracket to one side
walls using 3/16" drill bit. of cabinet with 5x26mm screws.

12



Installing the 18” and 24" Closet Rod on Cabinet Walls

Align the closet rod and bracket to the

e Fix the other bracket to the closet rod. holes marked on the opposite cabinet
wall.

Fasten the bracket to cabinet wall using
two 5x26mm screws.

b

13



Installing the 18” and 24"Closet Rod on Cabinet Shelf

Draw a centre line on the shelf and mark

0 Tools and parts needed two holes at a distance of 16.25 in for 18”
P ) closet rod and 22.25 in for 24" closet rod

from the centre on both sides.

)

— g / =

Drill Bit

#2 Philips Head Pencil 3/16"
Screw Driver

A =
#2 Philips Bit Cordless Drill Level
(optional)

@4x20mm
Melamine Screws

Assemble the closet rod and mounting
brackets. Fix the covers of mounting
brackets as shown in the image C.

Drill holes at the marked locations using
3/16" drill bit.

14



Installing the 18” and 24"Closet Rod on Cabinet Shelf

Insert the closet rod and align the top
holes with the drilled holes on shelf.
Fasten the closet rod to shelf using two
4x20mm screws.

15



Installing the 18" 24" 36" Pull out Hamper Basket

0 Tools and parts needed.

Draw a horizontal line on the cabinet walls
at desired height (L).

#2 Philips Head
Screw Driver

I

#2 Philips Bit

M5 x 16mm
Melamine Screw

Pencil

Cordless Drill
(optional)

IO ]

Drill Bit
3/16"

2=0

Level

Mark a hole at 1.5 in from the front on the
horizontal line.

sl
4

Side v

iew of inside panel

Desired height
of drawer slide

Insert the side mounted slide and align
the first hole on the slide with the

marked hole position. Use the slide as
template mark the outer holes of the slide
mounting bracket.

16




Installing the 18" 24" 36" Pull out Hamper Basket

Insert the slide and align the holes with
Drill holes at the marked locations using the drilled holes on the cabinet. Using a
3/16 mm drill bit. power drill or screw driver fasten the side

mounting slide to the cabinet using four

M5x16mm Screws.
(T

Take the support frame and adjust the

frame length by adjusting the screws at

the bottom according to the interior of the 0
cabinet. Make sure to adjust the distance

of the four sides of the frame consistent.

Install frame on the slides. After the frame
is installed, test weather the frame is
sliding smoothly. Lock the four screws at
the bottom of the frame.

/

17



Installing the 18" 24", 36" Pull out Hamper Basket

Open the velcro of the clothing bag on four sides, install wire frame under the folds and fold
back the velcro over the wire frame. Connect the plastic holders to with the wire frame as
shown in the image.

18



Installing the Under Sink Organizer

Place the template on the bottom panel

0 Tools and parts needed. of cabinet, aligning it to desired location
using template arrows.

- ] /
Drill Bit
#2 Philips Head Pencil 3/16"
Screw Driver
S
#2 Philips Bit C(()(;gltfgig;i" Level
M5 x 16mm M4x6mm
Melamine Screw Screw
Mark drill hole locations with a pencil Remove the template and drill the marked
following template instructions. holes using a 3/16" drill bit.

5

19



Installing the Under Sink Organizer

9 Install rails aligning with the pre marked holes using eight M5x16mm screws.

Slide the centre frame assembly onto the rails by pushing it under the clips at back of the
6 slides as shown in (A). Secure front portion of the frame to the rails using two M4x6émm screws
as shown in (B).




Installing the Under Sink Organizer

@ Install baskets using the locking clips as shown below.

21



Installing the 12” and 18” Double Pull-out Basket

Place the template on the bottom panel

_ of cabinet, aligning it to desired location
0 Parts required 0 using template arrows.

Drill Bit

#2 Philips Head Pencil 3/16"
Screw Driver

/
—4f=

7 \'\3\‘ @ — @
M5 x 16mm #2 Philips Bit Cordless Drill Level
Melamine Screw
Mark drill hole locations with a pencil Remove the template and drill the marked
following template instructions holes using a drill.

22



Installing the 12” and 18” Double Pull-out Basket

Using a screwdriver or cordless drill fasten
the Basket assembly using the eight
M5x16mm screws included with the
basket assembly.

Insert the metal basket assembly and align
the bracket holes to the drilled holes in
the cabinet

23



Installing the 18’ 24", 36” Pull-out Basket

Place the template on the side wall of the

0 Parts and tools required 0 cabinet, aligning it to the top and front
using template arrows.

/
D |

Drill Bit
#2 Philips Head Pendil 3/16"
Screw Driver
P o
M5x16mm #2 Philips Bit Cordless Dril Level
Melamine Screw

Remove the template and drill the marked

Mark drill hole locations with a pencil ) !
holes using a drill.

following template instructions.

e D
\ "\\\Mtq
X

by

Kty |
beg

T
maﬂdmam“*xp«::jww

Dri\\pi\othn\exinmhe

24



Installing the 18’ 24", 36” Pull-out Basket

Using a screwdriver or cordless drill fasten
the Basket assembly using the eight
M5x16mm screws included with the
basket assembly.

25



NEWAGE PRODUCTS INC. KITCHEN STORAGE ACCESSORIES
MANUFACTURER WARRANTY

PROOF OF PURCHASE IS REQUIRED « Name, address and telephone number

TO OBTAIN WARRANTY SERVICE. « Product Name / SKU Number

Please have the following information available A clear, detailed description of the problem
when you call our customer service team: « Proof of purchase including order number

Register your NewAge Products purchase online for quicker
customer assistance and access to exclusive benefits

Visit www.newageproducts.com/register/

Warranty Claim

For warranty service please contact NewAge Products at
1-877-306-8930; or support@newageproducts.com

Please review all warranty details below, prior to

. . Scan this QR code with the camera
contacting NewAge Products for a claim.

on your mobile device to visit the
Scan the QR code on the right to access our support page or NewAge Products Support Hub

visit www.newageproducts.com/contact-us/ www.newageproducts.com/support-hub/

5 YEAR LIMITED WARRANTY

WHAT IS COVERED

When this product is installed, operated and maintained according to the instructions attached to or furnished with the product, NewAge Products
Inc. will replace the defective product or parts if the part fails as a result of defective materials or workmanship for the warranty duration from the
purchase date of the product.

WHAT IS NOT COVERED

Service calls to correct the installation of any NewAge products or to instruct you how to use or install them.

—

2. Damage resulting from products caused by accident, misuse, abuse, fire, flood, improper installation, acts of God, neglect, modification, im-
proper maintenance and normal wear and tear or mishandling.

3. Repairs or replacement when your product is used in other than normal, residential use, such as a commercial environment, or handled in
anyway inconsistent with the installation instructions included with the product.

4. Surfaces damaged due to improper use of chemicals, and detergents.

5. Replacement parts for NewAge products outside Canada and the United States.

6. Loss due to theft.

7. Damage resulting from use of the product contrary and not in accordance to the instruction manual.

8. Any labor costs during the warranty period.

DISCLAIMER OF IMPLIED WARRANTIES
IMPLIED WARRANTIES, INCLUDING TO THE EXTENT APPLICABLE WARRANTIES OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE,
ARE EXCLUDED TO THE EXTENT LEGALLY PERMISSIBLE. ANY IMPLIED WARRANTIES THAT MAY BE IMPOSED BY LAW ARE LIMITED TO ONE YEAR, OR
THE SHORTEST PERIOD ALLOWED BY LAW. THIS WARRANTY IS LIMITED TO THE ORIGINAL BUYER. Some states and provinces do not allow limitations
on the duration of implied warranties of merchantability or fitness, so this limitation may not apply to you. This warranty gives you specific legal rights, and
you also may have other rights that vary from state to state or province to province.

LIMITATION OF REMEDIES; EXCLUSION OF INCIDENTAL AND CONSEQUENTIAL DAMAGES
YOUR SOLE AND EXCLUSIVE REMEDY UNDER THIS LIMITED WARRANTY SHALL BE PRODUCT REPAIR OR REPLACEMENT AT OUR DISCRETION AS
PROVIDED HEREIN. NEWAGE SHALL NOT BE LIABLE FOR INCIDENTAL OR CONSEQUENTIAL DAMAGES. Some states and provinces do not allow the ex-
clusion or limitation of incidental or consequential damages, so these limitations and exclusions may not apply to you. This warranty gives you specific legal
rights, and you also may have other rights that vary from state to state or province to province.



PRODUCTS INC.

NEWAGE

-
<
(L]
=
(L]
O
<
<
oc
[L]
-
W
(L]
—
O
w
W
(L]
Y
U
<

L
=
ol
=
U
L
o

Z
O
_I
<C
1
—
=
n
=
a
L
0
)
)

c
v
=
()
+—
c
v
€
v
(®)]
e
o
V)
©
g
o)
%]
(%!
()
|9
|9
K
—
=
©
-
<
ES
-
=

dommagé?

Vous avez besoin d'assistance ou de pieces de rechange? Pour

obtenir un service plus rapide,

contactez NewAge Products au 1 877 306-8930;
ou écrivez a support@newageproducts.com.
Ne retournez pas ce produit au détaillant.

IM-HKC.02A-01 REV 1.1



Index

Inspection du produit 3
Outils requis 3
Entretien et soins 3
Installation de la poubelle de 50 L coulissante 4
Installation du coin magique 6
Installation de la planche a repasser 8
Installation du support a pantalon de 18, 24 ou 36 po 10
Installation d’une tringle de garde-robe de 18 et 24 po sur les parois d’'une armoire 12
Installation de la tringle de garde-robe de 18 et 24 po sur une tablette d’armoire 14
Installation du panier a linge coulissant de 18, 24 ou 36 po 16
Installation d’'un ensemble de rangement sous évier 19
Installation du panier coulissant double de 12 et 18 po 22
Installation d’un panier coulissant de 18, 24 ou 36 po 24
Installation d’un panier coulissant de 18, 24 ou 36 po 25
GARANTIE LIMITEE DE 5 ANS 26




Inspection du produit

« Assurez-vous d’avoir recu toutes les pieces
conformément a la commande que vous avez
passée.

- Sl manque des piéces, contactez NewAge
Products au 1 877 306-8930.

Q ‘%’ « Avant de commencer l'installation, inspectez les
produits pour y déceler tout dommage.
® « Lisez attentivement les instructions
d'installation avant de commencer l'installation.

Outils requis

2=0

#2 Philips Head Pendil Drill Bit #2 Philips Bit Cordless Drill Level
Screw Driver 3/16" (Optional)

Entretien et soins

« Essuyez et nettoyez I'accessoire avec un chiffon doux. N'utilisez pas de tampon a récurer, ou de
nettoyants abrasifs ou chimiques.
« Pour les protéger, gardez les glissiéres hors de I'eau pour assurer un glissement sans accroc.



Installation de la poubelle de 50 L coulissante

0 Outils et pieces nécessaires.

Placez le gabarit sur la base de I'armoire
o et alignez-le avec I'avant et le c6té de
I'armoire.

1l

#2 Philips Head
Screw Driver

I

#2 Philips Bit

M5 x 16mm
Melamine Screw

Pencil

Cordless Drill
(optional)

: /) RSO
D)

Drill Bit
3/16"

2=0

Level

Marquez les trous de percage indiqués par
le gabarit.

Percez les trous aux emplacements
marqués en utilisant un foret de 3/16 po.

7




Installation de la poubelle de 50 L coulissante

Insérez I'assemblage du panier métallique et alignez les trous du support avec les
trous percés dans I'armoire. A I'aide d’un tournevis ou d’une perceuse sans fil, fixez
I'assemblage du panier a I'aide de huit vis M5x16 mm comprises avec l'assemblage.
Assurez-vous que les montants transversaux sont installés sur I'assemblage de panier,
comme illustré dans I'image (A).

@

Faites glisser le panier métallique vers l'extérieur et insérez-y la poubelle. Ajustez les montants
transversaux pour fixer la poubelle.

4

‘!




Installation du coin magique

0 Outils et piéces nécessaires.

Placez le gabarit sur la base de I'armoire
et alignez-le avec I'avant et le c6té de
I'armoire.

——n 7

Drill Bit
#2 Philips Head Pencil 316"
Screw Driver
#2 PhlllpS Bit Cordless Drill Level
(optional)
M5x8mm M5 x 16mm M4x8mm
Melamine Screw Melamine Screw Melamine Screw

Marquez les trous a percer indiqués par le
gabarit.

Percez les trous aux emplacements
marqués en utilisant un foret de 3/16 po.




Installation du coin magique

Insérez la base coulissante et alignez les Faites glisser le bati supérieur et fixez les
trous du support avec les trous percés poignées a l'aide de deux vis M4x8 mm.
d?ns I'armoire. A I'aide d'un tc’)urnews ou Fixez les supports inférieurs (B) sur le
d’une perceuse sans fil, fixez I'assemblage bati supérieur a I'aide de huit vis M5x8
du panier a Faide de .hwt VIS M>5x16 comprises avec I'assemblage et vissez les
comprises avec le coin magique. deux poignées sur le haut.

Insérez I'assemblage du bati supérieur
et alignez les trous de support avec les
trous dans la base coulissante. A l'aide
d’un tournevis ou d’une perceuse sans
fil, fixez 'assemblage du bati supérieur
a l'aide de huit vis M5x8 comprises avec
I'assemblage.

Faites glisser I'assemblage du bati
supérieur vers l'extérieur et posez les
paniers métalliques.




Installation de la planche a repasser

0 Outils et piéces nécessaires.

Placez la planche a repasser a la position
souhaitée sur la tablette d’armoire.

e — / =

Drill Bit
#2 Philips Head Pencil 3/16"
Screw Driver
#2 Philips Bit Cordless Drill Level

(optional)

M5 x 16mm
Melamine Screw

Faites glisser la planche a repasser hors du
bati. (Remarque : Faites en sorte que deux
personnes ou plus tiennent la planche a
repasser en position.) Marquez les trous
sur la base du bati coulissant.

Percez les trous aux emplacements
marqués en utilisant un foret de 3/16 mm.




Installation de la planche a repasser

Positionnez la planche a repasser, faites

glisser et fixez la planche a repasser sur Faites glisser la planche a repasser pour
la tablette a I'aide de huit vis M5x16 mm terminer l'installation.

comprises dans I'assemblage.




Installation du support a pantalon de 18, 24 ou 36 po

. N . . Tracez une ligne horizontale sur les parois
Outils et pieces nécessaires. , o "
d’armoire a la hauteur souhaitée (L).

— g / =

Drill Bit
#2 Philips Head Pencil 3/16"
Screw Driver
#2 Philips Bit Cordless Drill Level

(optional)

M5 x 16mm
Melamine Screw

Insérez la glissiere latérale et alignez le
premier trou de la glissiere avec la position
de trou marquée. Utilisez la glissiere
comme gabarit, marquez les trous
extérieurs sur le support de montage de
glissiere.

Marquez un trou a 1,5 po a l'avant de la
ligne horizontale.

S5in

\

ﬂ | 15in
/ ,,,,,

L Hauteur sou-
haitée du sup-
port a pantalon 0

Vue latérale du panneau intérieur N

10



Installation du support a pantalon de 18, 24 ou 36 po

Insérez la glissiere et alignez les trous avec
les trous percés dans I'armoire. A I'aide
d’une perceuse ou d'un tournevis, fixez la
glissiére latérale sur I'armoire avec quatre
vis de M5x16 mm.

Percez les trous aux emplacements
marqués en utilisant un foret de 3/16 mm.

A\

@ Insérez le support et fixez-le aux glissieres.

11



Installation d’une tringle de garde-robe de 18 et
24 po sur les parois d’'une armoire

0 Outils et pieces nécessaires.

—a— / =

Drill Bit
#2 Philips Head Pencil 3/16"
Screw Driver
#2 Philips Bit Cordless Drill Level

(optional)

@5x26mm
Melamine Screws

Tracez une ligne horizontale sur les deux
parois de I'armoire a une distance X du
haut et une ligne verticale a une distance
Y de l'arriere. Mettez le support sur le mur
et marquez les trous.

i

X

Vue latérale du panneau intérieur

Percez les trous aux emplacements
marqués sur les deux parois en utilisant un
foret de 3/16 po.

Fixez un support de montage sur un cété
de I'armoire avec des vis de 5x26 mm.

gy

12




Installation d’une tringle de garde-robe de 18 et
24 po sur les parois d’'une armoire

Alignez la tringle de garde-robe et le
support sur les trous marqués sur la paroi

Fixez l'autre support sur la tringle de 6
d’armoire opposée.

garde-robe.

Fixez le support a la paroi de I'armoire
avec deux vis de 5x26 mm.

b

13



Installation de la tringle de garde-robe de 18 et 24 po
sur une tablette d’armoire

Tracez une ligne centrale sur la tablette
6 Outils et piéces nécessaires. 0 et marquez deux trous a une distance de

16,25 po pour la tringle de 18 po et de
22,25 po pour la tringle de 24 po a partir
du centre des deux cotés.

3 RSO
QMM )
Drill Bit
#2 Philips Head Pencil 3/16”

Screw Driver

A =
#2 Philips Bit Cordless Drill Level
(optional)

@4x20mm

Melamine Screws

Assemblez la tringle de garde-robe et les
Percez les trous aux emplacements supports de montage. Fixez les caches
marqués en utilisant un foret de 3/16 po. des supports de montage, comme illustré

dans I'image C.

\

14



Installation de la tringle de garde-robe de 18 et 24 po
sur une tablette d’armoire

Insérez la tringle de garde-robe et alignez

les trous supérieurs avec les trous percés

dans la tablette. Fixez la tringle d’armoire

sur la tablette en utilisant deux vis

4x20 mm. %/

AL
_L
-

15



Installation du panier a linge coulissant de 18, 24 ou

36 po

0 Outils et pieces nécessaires.

Tracez une ligne horizontale sur les parois
d’armoire a la hauteur souhaitée (L).

) NSO
%MM D)
Drill Bit

#2 Philips Head Pencil 3/16"
Screw Driver
#2 Philips Bit Cordless Drill Level

(optional)

M5 x 16mm
Melamine Screw

Marquez un trou a 1,5 po a l'avant de la
ligne horizontale.

Hauteur sou-

ﬂ _15in
,,,,,,,,,,,,,,,,,,, /
haitée de la

L Qlissiere de
tiroir

Vue latérale du panneau intérieur

16

Insérez la glissiére latérale et alignez le
premier trou de la glissiere avec la position
de trou marquée. Utilisez la glissiere
comme gabarit et marquez les trous
extérieurs sur le support de montage de
glissiere.

1.51in




Installation du panier a linge coulissant de 18, 24 ou
36 po

Insérez la glissiere et alignez les trous avec
les trous percés dans I'armoire. A I'aide
d’une perceuse ou d'un tournevis, fixez la
glissiére latérale sur I'armoire avec quatre
vis de M5x16 mm.

Percez les trous aux emplacements
marqués en utilisant un foret de 3/16 mm.

Prenez1e patr ae soutien et ajustez ta

longueur du bati en ajustant les vis a Installez le bati sur les glissieres. Une fois

@ la base conformément a l'intérieur de que le bati est installé, vérifiez si le bati
I'armoire. Assurez-vous d’ajuster la glisse sans accroc. Verrouillez les quatre vis
distance des quatre c6tés du bati de facon a la base du bati.

~~hhAranta
CUTITITTIC,

/

17



Installation du panier a linge coulissant de 18, 24 ou
36 po
Ouvrez la fermeture autoagrippante du sac a linge des quatre c6tés, installez le bati métallique

@ sous les plis et repliez la fermeture autoagrippante sur le bati métallique. Posez les supports en
plastique sur le bati métallique, comme illustré dans I'image.

18



Installation d’'un ensemble de rangement sous évier

Positionnez le gabarit sur le panneau
inférieur de I'armoire en l'alignant a
I'endroit souhaité en utilisant les fleches
du gabarit.

0 Outils et pieces nécessaires.

- ] /

Drill Bit
#2 Philips Head Pencil 3/16"
Screw Driver
% Cordless Drill
ilios Bi Level
#2 Philips Bit (optional)

M5 x 16mm M4 x6mm
Melamine Screw Screw

Marquez les emplacements de trou a
percer avec un crayon en suivant les
indications du gabarit.

Retirez le gabarit et percez les trous
marqués en utilisant un foret de 3/16 po.

54

19



Installation de I'ensemble de rangement sous évier

9 Installez les rails avec huit vis M5x16 mm en les alignant avec les trous marqués préalablement.

Faites glisser I'assemblage de bati central dans les rails en le poussant sous les attaches a
I'arriére des glissiéres, comme illustré dans (A). Fixez la partie avant du bati sur les rails en
utilisant deux vis M4x6 mm, comme illustré dans (B).




Installation de I'ensemble de rangement sous évier

@ Installez les paniers a I'aide des attaches de verrouillage, comme illustré ci-dessous.

21



Installation du panier coulissant double de 12 et 18 po

Positionnez le gabarit sur le panneau
inférieur de I'armoire en l'alignant a

0 Pieces requises I'endroit souhaité en utilisant les fleches
du gabarit.

Drill Bit

#2 Philips Head Pencil 3/16"
Screw Driver

/
—4f=

W % ()
M5 x 16mm #2 Philips Bit Cordless Drill Level

Melamine Screw

Marquez les emplacements de trou a
percer avec un crayon en suivant les
indications du gabarit

Retirez le gabarit et percez les trous
marqués en utilisant un foret.

22



Installation du panier coulissant double de 12 et 18 po

A l'aide d’un tournevis ou d’une perceuse
sans fil, fixez I'assemblage du panier a
I'aide de huit vis M5x16 mm comprises
avec I'assemblage de panier.

Insérez I'assemblage du panier métallique
Q et alignez les trous du support avec les
trous percés dans I'armoire

23



Installation d’un panier coulissant de 18, 24 ou 36 po

Positionnez le gabarit sur la paroi latérale

0 Piéces et outils requis de I'armoire en l'alignant sur le haut et
I'avant en utilisant les fleches du gabarit.

——=
Drill Bit
#2 Philips Head Pencil 3/16"
Screw Driver
M5 x 16mm #2 Philips Bit Cordless Drill Level
Melamine Screw
Marquez les emplacements de trou a . .
9 P . Retirez le gabarit et percez les trous
percer avec un crayon en suivant les , -
marqués en utilisant un foret.

indications du gabarit.

by

Kty |
beg

oy
metandmaﬂxthemk::jdw‘mm

Dri\\pi\othn\exinmhe

24



Installation d’un panier coulissant de 18, 24 ou 36 po

A l'aide d’un tournevis ou d’une perceuse
sans fil, fixez I'assemblage du panier a
I'aide de huit vis M5x16 mm comprises
avec I'assemblage de panier.




NEWAGE PRODUCTS INC. ACCESSOIRES DE RANGEMENT
DE CUISINEGARANTIE DU FABRICANT

UNE PREUVE D’ACHAT EST REQUISE « Le nom, 'adresse et le numéro de téléphone

POUR OBTENIR UN SERVICE SOUS GARANTIE. *Le nom du produit/numero d'UGS

Veuillez avoir les renseignements suivants lorsque + Une description claire et détaillée du probleme

vous appelez notre équipe du service a la clientéle : « Une preuve d’achat, y compris un numeéro de com-
mande

Enregistrez votre achat de produits NewAge en ligne pour obtenir
une assistance a la clientéle plus rapide et un acceés a des avantages exclu-
sifs

Visitez www.newageproducts.com/register/

Réclamation sous garantie

Pour un service sous garantie, veuillez contacter NewAge Products au

1877-306-8930; ou support@newageproducts.com e E

Veuillez examiner tous les détails de la garantie ci-dessous avant de Balayez ce code a barres 2D avec la camérg

contacter NewAge Products pour une réclamation. de votre téléphone mobile pour visiter le
centre d'assistance de NewAge Products

Balayez le code a barres 2D a droite pour accéder a la page d’assistance ou
www.newageproducts.com/support-hub/

visitez le www.newageproducts.com/contact-us/

GARANTIE LIMITEE DE 5 ANS

CE QUI EST COUVERT

Pendant la durée de la garantie a compter de la date d'achat, lorsque ce produit est installé, utilisé et entretenu conformément aux instructions
fournies, NewAge Products Inc. remplacera les pieces ou le produit défectueux, si le bris provient d'un défaut de matériau ou de fabrication.

Les appels de service pour corriger l'installation de tout produit NewAge ou pour vous montrer comment I'utiliser ou l'installer.

Les dommages provenant du produit causés par un accident, une mauvaise utilisation, un abus, un incendie, une inondation, une installation
inadéquate, un cas fortuit, une négligence, une modification, mauvais entretien et usure normale ou une mauvaise manipulation.

Les réparations ou le remplacement lorsque votre produit est utilisé pour un usage autre que résidentiel normal, comme dans un milieu com-
mercial, ou manipulé d'une maniére incohérente avec les instructions d'installation comprises avec le produit.

Les surfaces endommagées en raison d’un usage inadéquat de produits chimiques et de détergents.

Les pieces de rechange pour des produits NewAge a I'extérieur du Canada et des Etats-Unis.

Une perte en raison d’un vol.

Des dommages résultant d’'une utilisation contrindiquée du produit et non conforme au manuel d’instructions.

Tout colt de main-d'ceuvre pendant la période de garantie.

N =

w

©~No oA

EXCLUSION DE GARANTIES IMPLICITES
DANS LA MESURE PERMISE, LES GARANTIES IMPLICITES, Y COMPRIS LES GARANTIES APPLICABLES DE QUALITE MARCHANDE OU DE CONFORMITE A
UN USAGE PARTICULIER,
SONT EXCLUES DANS LA LIMITE OU LA LOI LE PERMET. TOUTE GARANTIE IMPLICITE QUI POURRAIT ETRE IMPOSEE PAR LA LOI DOIT SE LIMITER A UN
AN, OU A LA PERIODE LA PLUS COURTE PERMISE PAR LA LOI. CETTE GARANTIE SE LIMITE A LACHETEUR D’ORIGINE. Certains Etats ainsi que certaines
provinces ne permettent pas les limitations sur la durée d’une garantie implicite de qualité marchande ou de conformité, il est donc possible que les limi-
tations ci-dessus ne s’appliquent pas a vous. Cette garantie vous donne des droits Iégaux particuliers et vous pourriez également disposer d’autres droits
variant selon I'Etat ou la province.

LIMITATION DES RECOURS; EXCLUSION DES DOMMAGES ACCESSOIRES ET INDIRECTS
EN VERTU DE CETTE GARANTIE LIMITEE, VOTRE SEUL ET UNIQUE RECOURS DOIT ETRE LA REPARATION OU LE REMPLACEMENT DU PRODUIT, A

NOTRE DISCRETION, COMME INDIQUE AUX PRESENTES. NEWAGE NE DOIT PAS ETRE TENU RESPONSABLE DES DOMMAGES ACCESSOIRES ET
INDIRECTS. Certains Etats ainsi que certaines provinces ne permettent pas I’exclusion ou la limitation des dommages accessoires ou indirects, il est par
consé nt possible que ces limitations et exclusions ne s’appliquent pas a vous. Cette garantie vous donne des droits légaux particuliers et vous pourriez
égal t disposer d’autres droits variant selon I'Etat ou la province.



	IM-HKC.01.004A-01 REV 1.1_Storage Accessories Installation Guide
	Product Inspection 
	Tools Needed
	Maintenance and Care
	Installing the Pull out 50L bin
	Installing the Magic Corner
	Installing the Iron Board
	Installing the 18”, 24”, 36” Pants Display Rack
	Installing the 18” and 24” Closet Rod on Cabinet Walls
	Installing the 18” and 24”Closet Rod on Cabinet Shelf
	Installing the 18”, 24”, 36” Pull out Hamper Basket	
	Installing the Under Sink Organizer
	Installing the 12” and 18” Double Pull-out Basket
	Installing the 18”, 24”, 36”  Pull-out Basket

	Storage Accessory  Installation Guide_FR
	Inspection du produit 
	Outils requis
	Entretien et soins
	Installation de la poubelle de 50 L coulissante
	Installation du coin magique
	Installation de la planche à repasser
	Installation du support à pantalon de 18, 24 ou 36 po
	Installation d’une tringle de garde-robe de 18 et 24 po sur les parois d’une armoire
	Installation de la tringle de garde-robe de 18 et 24 po sur une tablette d’armoire
	Installation du panier à linge coulissant de 18, 24 ou 36 po	
	Installation d’un ensemble de rangement sous évier
	Installation du panier coulissant double de 12 et 18 po
	Installation d’un panier coulissant de 18, 24 ou 36 po
	Installation d’un panier coulissant de 18, 24 ou 36 po
	NEWAGE PRODUCTS INC. Accessoires de rangement 


